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template<class Type>
Int segSearch(Type *a, int n, Type k)
{
for(int i=0; i<n; i++)
If (a[i]==k) return i;
return -1;
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(1) Tax() = max{ T(1) | size(1)=n }=O(n)

(2) T.in(N) = min{ T(I) | size(l)=n }=0(1)
Q) & FHHRAT, AL
= Q@ EAwamEAP(0<p<L)
= b AatagsaNEEI (0<i<n)figAnwamEsan, #H% ph

Tag(M= 2, p(T()

size(l)=n

=(1-£+2-£+3-£+A +n-£j+n-(l— p)
n n n n

= P 2ien(1-p)= P00 p =0
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e gy K k.
(1) for / while i% .

© WEIAAR A K At iAok 2K
(2) #% 244 7%
o JE AR A v H A ia * AT A G I R A
(3) MR 5 & 4
o Bi% &1t A 4t ia 4a Ao ;
(4) if-else+z &
o ifi& gt 4 af A Foelseid it L at i 9 Bk K
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template<class Type>
void insertion_sort(Type *a, int n)

{

Type key;
for (inti=1;1<n,;i++){

}

key=a[i];

int j=i-1;

while( ]>=0 && a[j]>key }{
all+1]=alj;

-

¥

a[j+1]=key;

/l cost

I
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cd
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times

n

n-1

n-1

sum of ti
sum of (ti-1)
sum of (ti-1)

n-1
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n-1 n-1 n-1
T(n)=cn+c,(n-1)+c,(n-1)+¢, > t+c > (t - +c, > (t, -1)+c,(n-1)
i=1 i=1 izl
¢ ARFHERT, t;=1,forl<i<n;

T, (nN)=cn+c,(n-1)+c,(n-1)+c,(n-1)+c,(n-1)

=(c,+C,+C;+C,+C,)n—(C,+C;+C, +C,) =0(n)

e ARMERLT, t; <i+l forl<i<n;

1_n(n+1) 4 ”‘1.:n(n—1)
S R

T (n)<en+en-1+c(n-1+

04(]](]7 +1) 1} N c{n(n — 1)J N 06(17(17 — 1)) veln-1)
2 2 2

c, +¢C +¢C C, —C —C
= 25 6zr72+[cl+c2+cg+4 25 6+c7jn—(02+03+c4+c7)

= 0(n*)
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o 2t F#- %3 a[i]=n-i,1=0,1,....n-1, H % insertion_sort
K F A RINER . B,

Cy — C5 — Cq
2

Cqy +C5+C
Trax(n) = > ®n2 + (C1 + ¢y + 3 +

+ C7)Tl
—(c, +c3+ ¢4 +Cy)
= N(n?)

@ h TR, Tp,(n)= 6%
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O(f(n)) # H o& A &AL K &

X 3] o

= s BE A B AL 69 o F oAt e T A Q(nlogn), & At ia &
Z2H A Ologn) 94k 4 4 & A RKH &
CHMAF ERRKIT &
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1. int factorial(int n)

2. A{

3. If (n==0) return 1,

4 return n*factorial(n-1);
5. }

T(n)={ o) m=0
Tn-—1)+060) n>0

7(n) = 0(n)
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MERGE-SORT A[l1..n]
1. 1f n=1, done.
2. Recursivelysort A[1.. n/2 ]
and A[n/2+1..n].
3. “Merge” the 2 sorted lists.

Key subroutine: MERGE
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20 12 || 20 12
13 11 | 13 11

7 9 7@

@@
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20 12 | 20 12
13 11 | 13 11
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20 12 | 20 12 || 20 12
13 11 |13 11 | 13 11

7917 9]@ (9

pfé

1 2
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20 12 | 20 12 || 20 12
13 11 § 13 11 | 13 11

éé?@

9

v

USTC AUTO




20 12 |20 12 | 20 12 [ 20 12
13 11 | 13 11 | 13 11 @ 11

7917 @@ @ (9)

T

1 2 I
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13 11 13 11 ] 13 11 |@3 11

7 917 @|@®

@

1 2 I 9
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13 11|13 11 |13 11 (3 11 @@
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20 121120 12 |20 12 |20 12| 20 12 20@

13 11)13 1113 11 |43 11 | A3(@1)13
7 9|7 9)0)@] (9)
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20 12120 12 20 12 [ 20 12 | 20 12 2o

13 1113 11 | 13 11 11 43
79 7@@ @
/

/
1 2 I 9 11 12
Time = O(n) to merge a total of n elements —— linear time
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T(n) | MERGE-SORT A[1. . n]

O(1) 1. 1fn=1, done.
2T(n/2) || 2. Recursively sort A[1..n/2]
Abuse and A[n/2+1..n].

O(n) 3. “Merge” the 2 sorted lists
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(e ifn=1
2T (2) +0(n) ifn>1
2

T(n) =+

X
5 TN) =0, F4MNEBFA%EKZS N T e e R,
1a & & K 2t & X 6 i st BR R A 2 ok

 RA1E @M E T(N) 69 LK
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KB T(N)=2T(n/2)+cn, x 2 c>0 & F 4
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KB T(N)=2T(n/2)+cn, x 2 c>0 & F 4
T(n)
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KB T(N)=2T(n/2)+cn, x 2 c>0 & F 4

cn

/

T(n/2) T(n/2)
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TOY4)  T(n/4)  T(nl4) T(N/4)
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/N /N

T(/4) T(n/4) T(n4)  T(n/A)

®(5:1)
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T(V4)  T(v4)  T(a)  T(n/a)

| o)
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T(V4)  T(4) T(va)  T(n/a)

' o(1)
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T(V/4)  T(n4) T(nvd)  T(n/d4)

L o(1)
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cn/2 Cn/2 e cn

h:Iogn/ \ / L

T(n/4)  T(n/4) T(n/4)  T(n/4)— cn

' o)
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cn/2 CNJ2 e cn

n=logn/ N/ \

T(n/4)  T(n/4) T(n/4)  T(n/4)-—-cn

v @(1) --------------------- # leaves = n | oo ®(:n)
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cn/2 CNJ2 oo cn

h:Iogn/ \ / \

T(n/4) T(n/4) T(n/4)  T(n/4) —cn
/ ............................ O(n)
10 ) J— # leaves =n O Iog n)
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% O(nlogn) ¥ Kik £ F O
" ARIAK/RT, AL st &L LT E 3
5 Rk
ChEmERAY, BEFRAA NI AL EAMAE L A4 T
k3% Nk A
" T T wAE AT K!
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ook KR E )2 X — A5 B
1. # % a4 5 X,
2. HuERGA XN, AAAFK

F#: T(n)=4T(n/2) +n 2> # X4k 2
* [4x 2 T(1) = O(1)]
« %o T(N)=0(n3) (T 2312 M O Fo Q)

o fex3% T(k) <ck3fork <n

c A EEAT(N) <cnd
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T(n) =4T (n/2) + n
=4c(n/2)° +n
= (c/2)n® +n
=cn® —((c/2)n3 —n) « desired — residual
= cn® « desired
% (c/2)n°-n>0, thde: c>2andn>1
N
residual
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ChREM AP, LA SN, kA LA
LG H 32

= LA R T(n)=0(1) forall n < ny, where n, is a
sultable constant.

= For 1 <n<n, we have “O(1)” <cn?3, if we pick c
big enough.

R, X —NIEER
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&, 413429 T(n) = 0O(n?)
a2 T(k)<ck?fork<n::
T(n) =4T(n/2) + n
< cnh+n

= M) Wrong! We must prove the LH. 0(n) = 0(1)?
=cn?— (- n) [desired —residual]
<cn?

DR B AC>0 k2 LK A4, 207
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< IDEA: 35 43 72 2% o]

“ AfpE P A E— MK H T
= A AP, FEAAEERA, BT REAE—NMUHT &R
A 3% o

= Hagsmz: T(K)<ck?®—ck fork<n.
T(n) =4T(n/2) + n
<4(cy(n/2)* - c,(n/2)) + n
=¢,N°-c,n—(c,n—n)
<cn?—c,n if ¢,>1
XL, ¢ RES KA MB A EMS G ERER
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a2 & T —ANHE kA V2 HAT A G At
iF] #E,

ok adt ok R A A KR G — AN RF T A
s ATk ARRERATEG (k7 4)
= % Yadty ok kF A
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KB T(n) =T(n/4) + T(n/2) + n?;
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KB T(n) =T(n/4) + T(n/2) + n?;
T(n)
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£ T(n) = T(n/4) + T(n/2) + n?.

PN

T(n/4) T(n/2)
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KB T(n) =T(n/4) + T(n/2) + n?;
n2

/

(n/4)2 (n/2)2

T(n/16)/ T\(n/8) T(n//ﬁi) ng)
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KB T(n) =T(n/4) + T(n/2) + n?;

N2

(n/4){ 52)2
PR

(N/16)% (n/8)2  (n/B)2 (n/4)?

0()
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KB T(n) =T(n/4) + T(n/2) + n?;

PN
(n/d)? (n/2)?
N N\

(n/16)2 (n/8)2 (nf8)2  (nl4)2

o(1)
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KB T(n) =T(n/4) + T(n/2) + n?;

n2 n2
7
(n/4)2  (n/2)? 5/16*n?

NN

(n/ 16)? (n/8)? (n/8)? (n/4)?

O(1)
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n2 n2
(n/4)? (n/2)? 5/16*Nn?2

<\ /N

(n./16)2 (n/8)? (n/8)?  (n/4)? — 25/256*n?

(9(;.1)
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KB T(n) =T(n/4) + T(n/2) + n?;

. n? - n?
(n/4)? (n/2)? 5/16*n?
N/ O\

(n/16)2 (n/8)2 (n/8)? (n/4)2 — 25/256*n?

(—)(1} Total = n?(1+5/16+(5/16)%+(5/16)°+...)
= O(n?)
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CEXEGTEEA T4 T GE I X
T(n) =aT(n/b) +f(n),
#F, a>1,b>1, f Réx @
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g f(n) 4o nlo8?

= f(n) = 0(n'°8»2=¢) for some constant € > 0
o f(n) 4% £ ik &tk n'oBrg —~AnfE F
- Solution: T(n) = ©(n'°&r4)
= f(n) = 0(n'°8%ogkn) for some constant k > 0

e f(n)5 n'°8b%oghn A A ta ix ¢ 5% K ik &

 Solution: T(n) = 0(n'°8r%ogh*1n)
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g f(n) Fo nlo8re,

= f(n) = N(n'°8»2+€) for some constant € > 0
o f(n) 4% K ik A sk nloB% h—An® BF

s A f(n)ik 220 Ak, .
af () < cf (n) for some constant 0 < ¢ < 1

= Solution: T(n) = 6(f(n))
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Ex. T(n)=4T(n/2) +n
a=4,b=2=nlg2a=n2 f(n)=n.

> CASE 1L:f(n)=0(n>¢) fore=1

. T(n) = O(n?)

Ex. T(n) =4T(n/2) + n?
a=4,b=2=nl92a=n2 f(n)=n?

- CASE 2: f (n) = ©(n?log®n), that is, k = 0
S T(n) = ©(n?logn)
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Ex. T(n) =4T(n/2) + n3

a=4,b=2=nl92=n2 f(n)=n3
2> CASE 3: f(n)=Q(n?*¢) fore=1
and 4(n/2)%<cn® (reg. cond.) forc=1/2
. T(n) = O(nd)

Ex. T(n) =4T(n/2) + n?/logn
a=4,b=2=nl92=n2 f(n)=n%logn
FRBAINERRAER, #31d, #FHKe>0 A n=
o(logn)

USTC AUTO



| f(ﬂj_ ----------------------- - ”.ﬂfﬂ:ll

fin/by fn/by - f(n/b)—— af(n/b)
= log;n M

f(ﬂffbj} II:WIJE} fI:HfIJE} --------------------- ﬂzfliﬁszjl
Ilr :

" #Heaves = g’
— a]'ﬂgﬁ.ﬂ
— H]E'E.EI"E

}l0gha II:]. )

| 7(1)
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Recursion tree:

flp)—rmre - fn)
T
f(n/b) f(n/d) --- f(n/b)—— af(n/b)

i =1logn ,/c"““[—:b‘iﬂ

fr:ﬂ;“bj} f{ﬂﬂ}z} f[}’i'sz} """"""""""""" ﬂ"'f (n/b*)
! ;
EASE 1: The weight increases
’ |geometrically from the root to the 3110853 7
i 1) leaves. The leaves hold a constant

fraction of the total weight. ol plog ba)
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Recursion tree:

LT S
fn/b)y f(n/b) --- f(n/b)—— af(n/b)
h=logsn ,/c"j[—::"iﬂ

f{ﬂ;’ﬁj} f':ﬁsz} e f[ﬁ'sz} --------------------- ﬂzf(i"?fflz]
Jr :
/ (CASE 2: (k= 0) The weight logpa 771
I(1) 15 approxmmately the same on et (1)
' each of the log;n levels. |
B)(n*°=bg n)
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Recursion tree:

L A
f(n/by f(n/by --- f(n/b)—— af(n/b)
h=logn M

uﬁﬂfﬁbj} f':ﬁsz} f[ﬁﬂ}z} --------------------- ﬂlf{ﬁr’szj
Jr :

' EASE 3: The weight decreases

| zeometrically from the root to the | ;025 7
| 1 'L]j leaves. The root holds a constant
fraction of the total weight. O(f(m)
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o # X 4 (Amortized analysis)
" KBRBBLEHNG—NEEAIFPHARITORAKMEG
FHatia, KFH4%E QK
" FRAFFHHASN, CHAFGEME, TIXRER
Tty AT #4516 F 3 M4
" RS FENE—BRAEGKMIELS, 21 FHG
R AT 46 = ABARK €9

o RAF &k
= B A4 (aggregate analysis)
= 4% 4 s (accounting method)
= # 45 & (potential method)
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o h 4)&%
" AR KN RBEE G IE DS ST

£ s
w2 e A e H

CRIAEFRT 4 24
s EEEANANTE, LERENG
RILERAH OM), A, RITHEAR
T@ziE K% n-0(n) =0n?) R

" RREARHM A O(n) /

INSERT: 1,2,3,4,5,6,6,5, ....
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SN ANBELEIMBRITERTGE LK T()
" RIAERT, ENBEGHIKMA T()/n
o3& AW G o7
" 2L H PN BEARS A

_{i o i K ARA209BA +1
Ci = 1 #®
~ 4
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|llog n—1]

n
ZCiSn+ z 2/ <3n=0(n)

i=1 j=0
o F T A A
O(n)
= oW
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+ Accounting method
* HAAGRERTAASAGRZAHIAMS), LRTHATH S
FRIFHLERAA
= FHANMA L EEAR M, BRER(GEA)GN 54BN
A F 2BRAMA, EATHARIMAEH
= AR T RA oM P A KR T A0 A 6 LA M
o BT A AT
" HRBESIGEBIRNREAL EAM G LR
" RHBBEMNFTOREAKEER
" FINBEOHRIAMEATAC, LEKMAc, M

>

n n
& >
=1 =1

l
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&AM
= R FHEANENREST, =3, £
s lARATFEHSHGQB/ARHA
e 2 ATFHENAT S 0 AN 4R 452
= s A, LAATFHHKHFA, 1 A4ATFH a0

$2) overflow
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&R
" sABEeH, LAATFBHRAA, LAATHHAA

f I i I f i [ tl()\'@jﬂ()lt'

$01$0[$0[$0]$0[{$0]$0{$0
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(X il
" AENGIERAARKERERG, BAOHIRAMNOEFoRET

% IR A — A LR
i 2] 5 6 7 8 9 10
size; I 2 4 8 8 8 16 16
C; 1 2 3 1 5 1 1 I 9 1
2. 3 3 3
bank 2 2 2
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CHRHDELELBNRITR P LHEERAEAD R
" HENBBHLEMEE, AXRRASE 2GR
" BRAHOT AR RRBEEGRMA
o 12 £
" B BELEMA D
= B4R 0 8 H IR A AD;_ E # AD;
= B GRHA C
" 2L ek D (D} >R, A D(D) =0,P(D;) =0
" 2t B O M LAME BLA
¢ = ¢+ ®(D;) — P(Di—4)
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24 4 4 4 1298
" ﬁo%ACDi>O, Méi>ci, ﬁ{?|ﬁﬁ%%*@?’ﬁ)\ﬁ&§

VAL WL /5 4 B
" Ao FAD, <0, MC <cp, BBLEMAREI AL T I
AT

Q:Cﬁmeﬂ_mu%{Z

Y
potential difference AD,

USTC AUTO



o 2t 48 o 1L AR
" N NBEGEH LKA

n n

2.8 =2(¢;+®(D,) - D(D,y))

i=l i=1

=Y ¢; +®(D,) - D(Dy)

i=1

> ZC,- since O(D,) = 0 and
i=l DD, ) = 0.
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&K G M
= 2L YA OD,) =2-i— 2losll
= gz 2110801 = ¢
" FIANBEANREGHIRAS A

C11' — G T (D(Di) o (D(D,'_])

4 Fo .
i+(2i -2 — (2(i-1) - 2l DY)
if 7 — 1 1s an exact power of 2,
1+ (2i—2Meil) — (2(i-1) - 2''e -DT)
otherwise.

.
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s Case 1

= j+2— (2l -2l @nl)
=i+2-(2(-1)-(@-1))
=j+2-2i+2+i-1
=3

** Case 2

6 =1+ (2i - 2eil) — (2(i-1) - 2Me D)
12— (- )
=3

USTC AUTO



RS N )
" BAE (I B BAE) N, KRBT IR R AT A AT
" AN AEALMTEENNBEGRIREITHAA
O(n)
c BNBEGHRIAMGLERE—~NTH
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a2k Hnib K%
= Recursion
= Divide and Conquer
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